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This question paper consists of 26 questions [Section-A (20) + Section-B (3+3)] and 8 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 49/HIS/1, Set [A] on the answer-book.

5. (a) The question paper is in English/Hindi meditum only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, /Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

TTATT 3R
1. wheneff ye-va % UEel I8 W AT SEHI S ford |
2. FYAT TH-TF H S o FF 0 %k FA 81 a1 WA A IqAt & w2 7 o gom yn % we® Sw T 7| 39 A
Stta oft o & o we il ®9 8 )
3. SR-YErh # we=H-foag s ran Ffde womt % srfafes weft off s foms w el 6 swim geEn s
4. A IW-1F W IH-TF FI e T 49/HIS/ 1, ¥ [A] fawi)
5. (%) TH-A Tt o=t /s & 7| TR oft, afg oo = ot i &t 18 foreft ueh o § I T weRd €
ststt, feedt, 34, Ut e, afiel, weraTem, wEe, o, We, 3fed, TSR, ik, Afogd, s,
aTett, Y, dEha o fowedt |
P IR-YfEeR # T3 e st § ford T e form w § 3w form @ £
(@) =fe 3 fe=dt ud st % srfafcn et s v 4 3o forad € o ue 61 arem § € areft et /et i frerd
el IIhT Bt |

318/HIS/110A [ P.T.O.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
ECONOMICS
eI
(318)
Time : 3 Hours ] [ Maximum Marks : 100
qm ;3 U | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B’.

(i) Al questions from Section ‘A’ are to be attempted.

(ii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.

fEer: () 39 IH-TT H 9 @ue —ue 3 991 @ug o |
(i) w@ug ‘@ & At g I TA BT B
(i) @WUE ‘T §uH U Ak foshed T whenfdi w1 haa vk frekew & & weAl % 3w A 2

SECTION-A
Ques—-A

1. Distinguish between gross investment and net investment. 2

gl o qun Fea few 4 9 A

2. Categorise the following into consumer goods and producer goods : 2
(a) Utensils in a household kitchen
(b) Sewing machine of a tailor
(c)  Fertilizers used in farming
(d) Milk used by a household
FrfcIiaa =1 3udhT awgell q9T Icae® aEgei § afidha hifed
(%) ufER & WE & a0
(@) osff Fr g Awfia
(M) wd § YgE I9H
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3. What is a production possibility curve? 2
3cUTE HATSHT Fgh 1 Bl 27
4. What is meant by the term ‘economic growth’? 2
‘iR wafyg ue @ w Al 77
5. “Statistical data are aggregate of facts.” Explain. 2

“Hiferha s qeA % Gg=d 2d &l GHEEd |

6. Distinguish between stock and flow. 2

Wi 3N Jae § 9 HIfS|

7. What are intermediate goods? Give one example of intermediate goods. 2
Head U T Bt 87 HeAad! awqatl o1 Tk, 3aTe R |

8. Value of output of a firm is ¥ 9,000. Its intermediate consumption expenditure
is ¥ 6,000. Calculate value added by the firm. 2
T HY ok 3G I G € 9,000 T THH TeHSd! UM =T € 6,000 T HH FR A
T qod gfg I e AR

9. What are substitute goods? Give one example of substitute goods. 2

TAMIE U FT Bl 8¢ LIS ST 1 Uk ISTee0 gt |

10. Describe any two main features of Indian economy as a developing economy. S

uF fommefia AdereRan % ¥ B IR Adeeren % TRl @1 e d@vi w1 avid

ST
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11. Calculate the arithmetic mean by using ‘assumed mean’ method from the data
given below : S

frefafiaa stiwel @ ‘wfcua e’ fafar g e mes & o filvE

12. Calculate ‘national income’ from the following data :

Marks No. of Students
3h Torentefat < wen
0-10 20

10-20 24

20-30 40

3040 36

40-50 20

¥ (in crores)

(i) Government final consumption expenditure 9,000
(ii) Gross investment 4,000
(iii) Exports 30
(iv) Imports 20
(v) Private final consumption expenditure 8,000
(vi) Depreciation 50
(vii) Net indirect taxes 40
(viii) Net factor income from abroad 10
Frfafea stterel @ g™ @ IO HE

¢ (w0 )

(i) w3ty 3ud =2 9,000
(ii) T e 4,000
(iii) Tt 30
(iv) A= 20
) = st s == 8,000
(vi) HeIBH 50
(i) TEa TEE-H 40
(viiy)  TIGRT | 9 qiaq A 10
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13. What is fiscal deficit? State any three ways to finance deficit. S
TSI ST 1 il 27 °1e o fam o & foedl i alienl 1 3g@ shifsd|

14. Calculate gross domestic product at market prices from the following data : S

¥ (in crores)

(i) Compensation of employees 7,500
(i) Net factor income from abroad (-)20
(iii) Rent 600
(iv) Interest 400
(v) Net indirect taxes 200
(vi) Depreciation 100
(vii)  Profit 1,500
(viii) Mixed income 4,000

freafafiea sTiwel ¥ aIeR hivd W Thd =9e] a8 ht) TUET hif

¢ (¥ W)

(i) e Tt 7,500
(i) et @ Faa wem o m (-)20
(i) T 600
(iv) = 400
() TEa AvEg-w= 200
(Vi) HeaEE 100
(vii) @™ 1,500
(viii) Tata sm= 4,000

15. Explain the view that “economic planning in India has been a mixed bag of
success and failure”. S

£ e B | DI C D S 2 e T LG | G 2 T [ e B B2 B o =2 B X e
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16. Calculate total cost and average total cost on the basis of following information : S
fAffiad SITHERT % SMUR W FHal NG a9l 376d FH AN hl 0T i
Output (units) Total fixed cost (¥) Total variable cost (¥)
IeUTE (TS FA fOR @ (7) &l aiEdt @me (9)
0 60 0
1 60 50
2 60 90
3 60 180
4 60 300

17. Present the following data on the expenditure of a family in the form of a pie

diagram : 8
Items of expenditure Percentage of income spent
Food 65
Clothing 15
Housing 12
Education
Others
TF UNER & 29§ gafa fefafed sieet @l w99 o % ' A wga FiE
=g it 03 =g <A TS AT T A9
CIEE| 65
I 15
HAE™E 12
fRram 5
3

( For Blind Candidates Only )
( et g wdani % for )

Note : Write the steps involved in the preparation of pie diagram for the above data.

TIG9T : UL 169 T SA1ohel o 1018 g 1ol ST H SITHCT <ol bl (e |
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18. What is equilibrium price? How is equilibrium price of a commodity
determined? Explain with the help of a diagram or a appropriate schedule. 8

e ma 1 et 27 TRt awg il Ggem fiwd w i w9 g 27 Wt st
WY ATCTeT o T o THATEY |

19. What is meant by credit creation? Explain with the help of a numerical example
how banks create credit. 8

grg fmior @ w®n AfuE 27 T GRS 39w g gqesd fR O g i
Fd 2

20. What is fiscal policy? Explain any three fiscal measures undertaken by the
government to control the poor fiscal situation in the country under the new
economic policy. 8

TSR Aifd w S 27 98 e Aifd % etearid SR g 2w Rl @Ue TSRy
feafa =1 e 0 & o BR 9H 9 fF<l i oo 3art f =wen fi )

SECTION-B
Qus—d

OPTION-I
faeheu—1

( Role of Agriculture and Industry in India’s Economic Development
ry p

( 9TRa & oTTfdieR ToreRTd W i 3R e T it )

21. State any two causes responsible for low productivity in agriculture in India. 2

IRd # FfY # f Scaewar & o saeeh 5 5 wroit w1 sg@ fif

22. State five points of importance of industries in Indian economy. S

IR stdeaee § 32N o ur" e Sared |

23. Explain how in any four ways industrial sector dependent on the agriculture
sector. 8

FoRgl oI Toh R O OISy (o ST, &r, i & O (ohd Tl uL 2
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OPTION-II
faerea-11

( Population and Economic Development )

( ETEE SR enfeles forerm )

21. What is meant by sex ratio? How is it obtained? 2

o srqura @ Al 27 3@ %W w fRen Smar 27

22. “Fast growth rate of population has adversely affected the well-being of
masses.” Explain. S

“Saen f fig gfg w3 A & Sfem B e W g we® wafaa e 2
EEEIE]

23. How does the high growth rate of population in India affect the following? 8
(a) Environment and forests

(b) Capital formation

IRd 4 a6 S gfg ® Fefafaa w0 gafaa s 27
(%) R IR T
(@) it i

* Kk Kk

www.FirstRanker.com

318/ HIS/110A f23 14VO—8L000x3



